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. RN 1o 1 e =i Ak
ok TP b ERRE | B ERRE F ik
TRk 2 84 0.014 0. 002 0. 033
2 94 0.013 0. 002 0. 036
3 04 0.014 0. 002 0. 030
afn JuiE 0.013 0. 002 0. 035
24 0.012 0. 002 0.034
1H 0.013 0. 002 0. 027
2 A 0.016 0. 004 0. 027
3 A 0.014 0. 002 0. 034
4 1 0.010 0. 001 0. 047
5l 5H 0.010 0.001 0. 044
ED 6 H 0.011 0. 002 0. 041
i 7H 0. 009 0.001 0. 029
,é?u 8 H 0. 009 0. 001 0. 041
9 A 0. 009 0.001 0.033
10H 0.011 0.001 0. 033
11H 0.015 0. 002 0. 025
12H 0.014 0. 002 0. 027
BE A T 6 B BEE BRI
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EER/ RRGGYKEGE| B & | I8 B | T8 gkt & R | 2o | &
Pk 2 84 4 5 20 0 0 0 11 0
2 94 6 6 11 3 0 0 6 0
3 04F 14 2 13 2 0 1 11 0
afn iR 14 4 19 2 0 0 13 0
24 7 4 18 5 0 0 7 0
1H 0 0 2 1 0 0 0 0 3
2 A 0 0 0 0 0 0 1 0 1
3A 1 0 1 0 0 0 3 0 5
4 A 0 0 0 2 0 0 1 0 3
50 5 A 1 0 3 0 0 0 0 0 4
Eﬂ 6 A 3 0 2 0 0 0 0 0 5
ﬁ 7 A 1 0 2 | 0 0 0 0 4
1| 8 A 0 1 0 0 0 0 1 0 2
9A4 0 1 4 0 0 0 0 0 5
10H 1 2 2 1 0 0 1 0 7
114 0 0 2 0 0 0 0 0 2
124 0 0 0 0 0 0 0 0 0
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SRR 2 8 4F 9 6 7 1
2 94 2 1 1 1
304 9 7 5 4
S LA 5 5 5 4
2 4 5 1 4 1
4 A 0 0 0 0
5H 0 0 0 0
4_3\
Py 6 H 1 0 1 0
é 7 H 0 0 0 0
H 8 4 | 3 1
il g
9H 0 0 0 0
10AH 0 0 0 0
kAT 7L, 1H~3H, 1 1H~12 OB, K& Gkl BRI
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YRk 2 8 4F 1, 959 3, 020 23, 181
2 94F 1,725 2, 445 24, 215
3 04F 1,639 2,327 23, 946
S oA 1, 669 2, 200 24, 056
2 4F 1, 335 2,034 23, 030
1H 119 152. 2 1874.93
2 H 112 154. 5 1647. 35
3H 103 153.7 2028. 77
4 A 109 167.6 1968. 48
5H 104 151.3 1992. 33
4_1\
i? 6 A 105 154. 9 2027. 89
H
)= 7H 105 174.7 1977. 40
a1l
8 A 106 157.5 1840. 60
9H 156 316. 4 1867.93
10H 104 156. 2 1779. 59
11H 101 144. 2 1883. 52
12H 111 150.9 2141. 67
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